
 

𝒎 =
𝒙𝒚̅̅̅̅ − 𝒙̅ ∙ 𝒚̅

𝒙𝟐̅̅ ̅ − 𝒙̅𝟐
        ,        𝒃 =

𝒙𝟐̅̅ ̅ ∙ 𝒚̅ − 𝒙̅ ∙ 𝒙𝒚̅̅̅̅

𝒙𝟐̅̅ ̅ − 𝒙̅𝟐
 

𝒙̅ =
𝟏𝟐𝟑

𝟏𝟔
= 𝟕. 𝟔𝟖𝟕𝟓       ,         𝒚̅ =

𝟏𝟒𝟎

𝟏𝟔
= 𝟖. 𝟕𝟓       ,        𝒙𝒚̅̅̅̅ =

𝟏𝟒𝟑𝟏

𝟏𝟔
= 𝟖𝟗. 𝟒𝟑𝟕𝟓         ,         𝒙𝟐̅̅ ̅ =

𝟏𝟐𝟖𝟕

𝟏𝟔
= 𝟖𝟎. 𝟒𝟑𝟕𝟓 

𝒎 =  
𝒙𝒚̅̅̅̅ − 𝒙̅ ∙ 𝒚̅

𝒙𝟐̅̅ ̅ − 𝒙̅𝟐
 =  

𝟖𝟗. 𝟒𝟑𝟕𝟓 − 𝟕. 𝟔𝟖𝟕𝟓 ∙ 𝟖. 𝟕𝟓

𝟖𝟎. 𝟒𝟑𝟕𝟓 − 𝟕. 𝟔𝟖𝟕𝟓𝟐
 =  𝟏. 𝟎𝟑𝟗 

𝒃 =  
𝒙𝟐̅̅ ̅ ∙ 𝒚̅ − 𝒙̅ ∙ 𝒙𝒚̅̅̅̅

𝒙𝟐̅̅ ̅ − 𝒙̅𝟐
 =  

𝟖𝟎. 𝟒𝟑𝟕𝟓 ∙ 𝟖. 𝟕𝟓 − 𝟕. 𝟔𝟖𝟕𝟓 ∙ 𝟖𝟗. 𝟒𝟑𝟕𝟓

𝟖𝟎. 𝟒𝟑𝟕𝟓 − 𝟕. 𝟔𝟖𝟕𝟓𝟐
 =  𝟎. 𝟕𝟔𝟑 

𝒚 = 𝟏. 𝟎𝟑𝟗𝒙 + 𝟎. 𝟕𝟔𝟑 

 

 


